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Why Selective Actions Test Inputs:
radius = 3
radius = -3
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Not Equal To

int x = 3;

int y = 4;

int z = 4; x != y !(x == y)

y != z !(y == z)
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A Single If-Statement
Syntax

Semantics/
Meaning

Case 1: 
BooleanExpression1 evaluares to true

body of 1st branch

ignored after BEI

the botfd Otg executed .
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If-Statement Case 1: Example

Console

A
⇒ I'm -4 . ⑦
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A Single If-Statement
Syntax

Semantics/
Meaning

Case 2: 
BooleanExpression1 evaluares to false
BooleanExpression2 evaluares to true
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If-Statement Case 2: Example

Console

⇒
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A Single If-Statement
Syntax

Semantics/
Meaning

Case 3 
BooleanExpression1 evaluares to false
BooleanExpression2 evaluares to false
BooleanExpression3 evaluares to true
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If-Statement Case 3: Example

Console
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A Single If-Statement
Syntax

Semantics/
Meaning

Case 4  An else statement is present
BooleanExpression1 evaluares to false
BooleanExpression2 evaluares to false
...
BooleanExpressionn evaluares to false
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If-Statement Case 4: Example
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A Single If-Statement
Syntax

Semantics/
Meaning

Case 5  An else statement is absent
BooleanExpression1 evaluares to false
BooleanExpression2 evaluares to false
...
BooleanExpressionn evaluares to false
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If-Statement Case 5: Example

Console
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Defining Logical Operators: Truth Tables

Negation ( ¬ , not) Conjunction ( ∧ , and) Disjunction ( ∨ , or)

P ! P

true

false

P Q P && Q
false false

false

false

true

true

true true

P Q P || Q
false false
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true true
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Example of Logical Operation: Negation
0

Test Inputs:
radius = 5
radius = 0
radius = -3
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Example of Logical Operation: Conjunction

45 65
Test Inputs:
 age = 30
 age = 50
 age = 70
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Example of Logical Operation: Conjunction

45 65
Test Inputs:
 age = 30
 age = 50
 age = 70

ii.sold
"⑨
* ⇒Nyo else . age >¥5 D

age< 65
•

Of
O O o

E
O Exercise :

IF
"
⑦
. Try 30,70
= ⑧

on Debugger .

¥, T.EE#=xximn-T&eT TO

FIX me -0- Kwun



Example of Logical Operation: Disjunction
18 65

Test Inputs:
 age = 70
 age = 15
 age = 40
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Example of Logical Operation: Disjunction
18 65

Test Inputs:
 age = 70
 age = 15
 age = 40
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